= one foot

three inches

one foot

one and one half inches

one foot

one inch

[@P)

one foot

three quarters inch

J

one foot

one half inch

one foot

three eighths inch

one foot

one quarter inch

16

one foot

one eighth inch

,% CL 2'-6" MAX. (U.N.O.)
3/16"

‘ ‘ 400T125-54
TOP TRACK G _
| N CONT. 3/8" BENT Y 376" MAX
| PLATE OR ANGLE g
| ‘ ) L5X3 TO
<’ 1/2" THK. PLATE W/ —— 400S200-43 @ 16" O.C. BM. FLG. A EDGE OF DECK
4-3/4" D A325 BOLTS | \\ | 3/16‘ | /
|

| METAL DECK PER
3/8" THK. PLATE ST UL \ 3/16‘ !
N - - - fX} j@ * b B VERTI CLIP SLB W/ 3- A e M o FRAMING PLAN CONT. 3/8" BENT
W-BEAM PER ‘ 0-11/2" b || ©) SCREWS TO STUD \ . " " BLATE OR ANGLE
FRAMING PLAN e TS COLUMN OR = AND 3-0.145 D HILTI B g N N\ /] |
‘ ‘ PIPE COLUMN PER | | POWDER ACTUATED
1/4"‘ N 12" T'HK. PLATE W/ FOUNDATION PLAN NAII.(_}F?PSEE\E;_PES
S COLUMN OR 4-3/4" D A325 BOLTS ) | W-BEAM PER _EA. >
| L FRAMING PLAN L5X3X1/4 @ MAX.
PIPE COLUMN PER SPACING OF 4'-0" O.C.
FOUNDATION PLAN e A 400T125-54
W-BEAM PER
O
- N BOTTOMTRACK X FRAMING PLAN 3/16‘
\/\\/ |

X W-BEAM PER

FRAMING PLAN
(WHERE OCCURS)

L2X2X1/4

16 TS COL. TO W-BEAM TO W-BEAM (SLOPED) 12 TS COL. TO W-BEAM (SIDE) 8 METAL DECK EDGE (PARALLEL)TOSTUD 4 METAL DECK EDGE DETAIL (SLOPED)

3/4" = 10" 3/4" = 10" 3/4" = 1-0" 3/4" = 1-0"

3/8" THK. PLATE W/
2-3/4" D M.B. TYP.

3/8" THK. PLATE W/ )
W-BEAM PER 2-3/4" D M.B. TYP. 3/8" THK. W-BEAM PER
FRAMING PLAN éﬁ STIFF. PLATE FRAMING PLAN

5/16" ‘ %

! 5/16" ‘

SUPPORT PUDDLE WELDS TO MEMBERS
\ %‘ / PARALLEL TO FLUTES @ 12" O.C.

5/16" ‘ | >

400T125-54 \
, 5 ‘/// TOP TRACK r :
> 7 PUDDLE WELDS
_ _ N - - - [ - - - \ - - - - - - - - - - - - - - - - -
é B < ¢ T CONT. 3/8" TOEXT.
e - 36| 212 SUPPORTS EACH

1/2" THK. PLATE W/ r r :
4-3/4" D A325 BOLTS 4-3/4" D A325 BOLTS 4-3/4" D A325 BOLTS VERTI CLIP SLB W/ 3. METAL DECK — — ~— 1-1/2" TOP SEAM
SCREWS TO STUD \ - WELD @ 12"
\ AND 3-0.145 D HILTI % %H PER | P o.C.
POWDER ACTUATED FRAMING PLAN 7 PUDDLE WELDS TO - - - - - - - - =
TS COLUMN OR NAIL TO STEEL BEM | INTERIOR SUPPORT g
(TYP. EA. STUD)

1/4" ‘

TS COLUMN OR
PIPE COLUMN PER \
TS COLUMN OR FOUNDATION PLAN

|
|
. PIPE COLUMN PER
|
\

1/4"

1/4"

’

| 400T125-54 ||| EACHFLUTE |

| BOTTOM TRACK e
|
|

! M | ~
AL Ll
PUDDLE WELDS TO MEMBERS ’7\

PARALLEL TO FLUTES @ 12" O.C.

FOUNDATION PLAN

7 400S200-43 @ 16" O.C. y
7 BENT PLATE yi Ui
| ] METAL DECK PER
| W-BEAM PER ‘ OOF DECK | /FRAMINGPLAN S 1§ —
FRAMING PLAN | 1/2" THK. PLATE W/ 1/2" THK. PLATE W/ - = - = - ~
| y O\ / \
|
| W-BEAM
|
|

FOUNDATION PLAN

|
|
- PIPE COLUMN PER
|
|

19 TS COL.TO W-BEAM TO W-BEAM (END) 15 TS COL. TO W-BEAM (SLOPED-MID) 11 TS COL.TO W-BEAM TO W-BEAM (MID) / METAL DECK EDGE DETAIL (PARALLEL) 3 TYP.ROOF DIAPHRAGM LAYOUT

3/4" = 1'-0" 3/4"=1'-0" 3/4"=1'-0" 3/4" = 1-0" 1/4" = 1'-0"

f_ 3/8" THK.

W-BEAM PER | STIFF. PLATE W.BEAM PER

FRAMING PLAN | - "

‘ FRAMING PLAN i 3/8" THK.
|

W-BEAM PER STIFF. PLATE
5/16"‘ FRAMING PLAN
4 | %_ BEAM A325 F SHEARPL | SHEARPL
- 5/16"‘ SIZE BOLTS THICKNESS | WELD SIZE REMARKS
|
| —— | 400T125-54 LESSTHAN 8" | 2-7/8"DIA. 3/8" 5/16"
\ \ 7 TOP TRACK W8, W10, C8 2-7/8" DIA. 3/8" 5/16"
1/2" THK. PLATE W/ — - /L — —

_ AN

\
\ \
\ \ =
| =T
o 4-3/4" D A325 BOLTS =
1/4"‘ =
\ \ \
| | | 1/2" THK. PLATE W/
\ \
\ \
|

b

Q
AR
2
N
ol
N
i

I 400S200-43 @ 16" O.C. |
METAL DECK PER W12, W14 o768 DIA
i
_ ROOF DECK _ A B |
4
VERTI CLIP SLB W/ 3- = g
1/2" THK. PLATE W/ \ ] NOTES:

TS COLUMN OR
PIPE COLUMN PER \ 4-3/4" D A325 BOLTS
FOUNDATION PLAN

SCREWS TO STUD

\ \
| |
| |
o | | | 4-3/4" D A325 BOLTS 68
-3/4" AND 3-0.145 D HILTI I W-BEAM PER
\ | | POWDER ACTUATED ERAMING PLAN 1. THE DIFFERENCE IN THE NUMBER OF BOLTS BETWEEN ADJOINING
TS COLUMN OR | ‘
| |
| |
|

| \
| AL TO STEEL BEM BEAMS SHALL NOT EXCEED ONE, AND THE DIFFERENGCE IN THE
N ‘ | (TYP. EA. STUD) SIZE OR WEIGHT OF THE BEAMS SHALL NOT EXCEED 15% OF THE
‘ | PIPE COLUMN PER \ P EA 400T125-54 GREATER BEAM
FOUNDATION PLAN TS COLUMN OR | el Essoceiyin: _
| | PIPE COLUMN PER 2. CONTINUOUS INSPECTION IS REQUIRED FOR ALL A325 BOLTS.
| | FOUNDATION PLAN | 3. BOLTS HOLES TO BE STANDARD HOLES 1/16" GREATER THAN BOLT

A

‘ DIAMETER. SHORT SLOTTED HOLES IN SHEAR PLATE MAY BE USED
ONLY WHERE NOTED.

18 TS COL. TO W-BEAM (END) 14 TS COL. TO W-BEAM 10 TS COL. TO W-BEAM (MID) 6 METAL DECK EDGE (PERP.) 2 TYP. BOLTED BEAM CONN. SCHED.

3/4" = 1'-0" 3/4" = 1'-0" 3/4" = 1'-0" 3/4" =1"-0" 3/4"=1-0

VA | 2'-6" MAX. (U.N.O.)

3'-6" MAX.

1/4“‘
CONT. 3/8" BENT r TL\_/ LS U U U \]|f
PLATE OR ANGLE r L5X3 TO
3/16‘ \

|

|

| 3/8" THK. EDGE OF DECK N BM. FLG.
STIFF. PLATE \

| re,/le

|

W-BEAM PER (}:‘

FRAMING PLAN 3,16..‘ TS COLUMN OR PIPE
| COLUMN PER \
FOUNDATION PLAN

|
|
|
|
|
| / (E) W-BEAM 0-1 1/2"%\
Y
0'-11/2" o |

3’16‘ METAL DECK PER METAL DECK
% ‘ l CONT. 3/8" BENT FRAMING PLAN PER FRAMING PLAN
| 3/ 16‘ L5EX3X1/4 @ MAX. PLATE OR ANGLE
/ / 1/4"‘ SPACING OF 40" O.C.
\ = \% J ‘ /N / \ /] L5X3X1/4 @ MAX. JJ( / d SECTION PROPERTIES (PER FOOT OF WIDTH)
o - - - — - - - > SPACING OF 4-0" O.C. 1 | s s
1/4"‘ 1/2" THK. PLATE W/ Q / . - 0 GA. | (% (in? (i)
4-3/4" D A325 BOLTS T
TS COLUMN OR o 3/16‘ ‘ 18 1.330 0.689 0.765
PIPE COLUMN PER W-BEAM PER
FOUNDATION PLAN FRAMING PLAN | \ O 3/16‘ W-BEAM PER
| 1/2" THK. PLATE W/ L FRAMING PLAN 3" X 18 GA DECK
14 R 4-3/4" D A325 BOLTS N» | @ SUPPORTS - 7 PUDDLE WELDS
o 3/16‘ W-BEAM PER @ PERIMETER - PUDDLE WELD @ 12"
TS COLUMN ORPIPE —— | | | 3/16‘ | FRAMING PLAN @ SEAM - TOP SEAMWELD @ 12
COLUMN PER (WHERE OCCURS)
FOUNDATION PLAN Vo

| L2X2X1/4

1/ TS COL. TO W-BEAM (SLOPED) 13 TS COL. TO W-BEAM TO (E) W-BEAM O METAL DECK EDGE (PARALLEL) 5 METAL DECK EDGE DETAIL-SLOPED 1 METAL DECK SECTION PROPERTIES

3/4"=1'-0" 3/4" =1'-0" 3/4"=1-0" 3/4" =1'-0" 3/4"=1-0"

CONSULTANTS: ARCHITECT/ENGINEERS:
- - STRUCTURAL DETAILS ENTRANCE VESTIBULES AND 612-10-066 i
COVERED WALKWAY AT saiding Number Office of
Facilities
STRUCTURAL MECHANICAL & PLUMBING ELECTRICAL . B LDGS 20 AND 22 BLDGS. 20 & 22
MEI-MEI CHAN
E&A ENGINEERS. SJ ENGINEERS FWA INC. C-29350 Location Drawing Number Management
20505 E. VALLEY BLVD. SUITE 110 300 FRANK OGAWA PLAZA, SUITE 308, 330 FRANKLIN STREET, 239 9TH STREET, Suite 201
WALNUT, CA 91789-2705 OAKLAND, CA 94612 OAKLAND, CA 94612 SAN FRANCISCO, clxg4103 R—ENEV'V?’:S; — VANCHCS - MARTINEZ
TEL: (909) 598-5045 TEL: (510) 832-1505 TEL: (510) 763-7475 - )
CONSTRUCTION DOCUMENTS BID SET 0610201111 pax: ((909)) 598-8585 FAX: ((510)) 832-1507 FAX: ((510)) 763-7033 lﬁiigi 6527338 Approved: Project Director pate Checked prawn 884'2 w Department of
www.meiarchitects.com h
Revisions: Date architecture + interiors JUNE 10, 2011 GVE CEL Veterans Affairs

VA FORM 08-6231, OCT 1978




